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 SECTION ‘A’  

cfdVRacl FfOFl  
Marks: 

10 

01 klacl vfaQ sVl FfOFljfnP dfcl Tmpacl TmpgdcPcl hDaf klg : 5×1=5 

 hjxfMnfn gPxMpmP kInfan efMtcl cRzRO sVxR TzRnl dpnf DD rhl sRnRdcPnQ nP aofO
ndpnf DD sRnRdcP gl rnQ yPyPafnR afOzf gPxMp aldpnf DD itzl rcl LlatlOcl TrpkInl 
gRePdIaMMl  vRoRb  nlOU  vPafwlOdcPM " sRnR tlOcl " dfbldDD rcl Lla clnfxfafb 
cptItM kVPbPzMl 14 gRePdaM 1889 Ml tacl dpnf DD r kgIFlt dRtlnfn gPxMPcl 
rU dpnf DD kgIFlt dRtlnfn gPxMp sVlg nP TifOa sVxlMa dpnfDD hjxfMnfn gPxMpmP
kInfan glacl sVl yPa TsPdzP dpnf DD r dxftdf ufgIwlmPcl TsRnf oR dpnf DD rhl  
aQMlHIMl iPzl nzl xVROzQQ opUn clvcl rfnl clnfxfafbMl sVxlMalaf tR ncl DD 26 nlOUM 
rcl Taf sdnf gPxMpafnR tacl dpnf DD rcl sVl dgP zgItfg clgIblMf dpnf DD gPxMp-
mPtl  sVxlalafcl TsP jfyPclMPal sfOuPVhM xRcl  DD cmIuVPh sVxliROhtl rnQ  nP  cpnP 
hPnM tpcl, bP rhl vROoR gl xfM cfdfbl DDrhl hPnM Hlcpgf gl tlOUnQQ TifOa TsPM hDROclDD
hPnM r vPdpnf rfnl bPadcP kVPdpnf DDrhl rlcpeRsP gl ndpnfDDHxdcPM kfMIdTzRcl
Hx rnQQQ aPnP vRdpnf DDr opspMg cxlmIzfcl TsfO kVcl DD15 cuzIt 1947 Ml TmRcP  
Txpn efMt kInfan tcl DD efMtnQQ kInfan ncpM gPxMpmPcl nP yPa oR dpnf DD 

 

i kInfan efMtcl cRzRO TzRnl vfa dpnf ? 
s) dxftdf ufgIwl 
v) zpafz rgIbV eRz 
u) clgIblMf ufgIwl 
q) hjxfMnfn gPxMp 

01 

ii efMt vfa nlOUM kInfan tacl dpnf? 
s) 13 cuzIt 1947 
v) 14 cuzIt 1947 
u) 15 cuzIt 1947 
q) 16 cuzIt 1947 

01 

General instructions:  

1. The question paper contains 4 sections. 

2. There are total 9 questions in Section A, B & C in which optional questions of questions 

have been included.  

3. Descriptive questions are asked in Section D. 

4. There are total 7 questions in Section D in which optional questions of questions have been 

included.  



iii gPxMpmPcl Taf mRhR nlOUM tacl dpnf? 
s) 25 nlOUM tacl dpnf DD 
v) 26 nlOUM tacl dpnf DD 
u) 27 nlOUM tacl dpnf DD 
q) 28 nlOUM tacl dpnf DD 

01 

iv dRtlnfn gPxMp vQQQa vfncl sVxlMa dpnf ? 
s) cTifOa sVxlMa dpnf DD 
v) nP TifOa sVxlMa dpnf DD 
u) nPOUxl sVxlMa dpnf DD 
q) apMIv sVxlMa dpnf DD 

01 

v gPxMpmP opspMg tRcl TsfO kVcl? 
s) sVRgcl TsfO kVcl DD 
v) cfsVRtpzlcl TsfO kVcl DD 
u) cxlmITzfcl TsfO kVcl DD 
q) xlmITzfcl TsfO kVcl DD 

01 

 cfmlalTzP  

 mlnQ zRkPUnMl nP zQcl cfMPcfta kMIbldDDrp cfMPcftanQ zlOwpnkRtl tMf ncpM yPa
nRUa ncldpDD mltl rcp Tmfn,HfU-Hp, Llslzl, sRcPHpn hRuR zQdcP rpmfnl oRdRDD wlOM
 rxlbla vPkVlyP, sRcPyP, spOzQ hRuR zQgld zlOwpnkRdcPmfnl g oRdR DD dlUdcPtl bRnP  
TvRtR-TdpnQ gl zlOwpnkRM g jm nntpd DD tfg Tdptl wp- klMj g zlOwpnkRmfnl g 
xVROzQ rcp oRdR DD kgnRtl TmRcP vQObRTspbR jfMfm gP tfMTifO yPd DD TmRcP yPTzR-TzRbR    
Tufcpn MfxnQ qfMIblmfnl zSaldRDD zlOwp dpacl nRUM Hpxl cfof DDkgnRtl vQOnQ tfMIITifO
yPcpM g nRUa ndDDmltl gl xVRO-xVROzQ znRUM nP vfncl klMj Mpclntpd DD zlOwpnkRtl
 g mlnQ rPUbla EdP gl oRdR DD itzl, gfOz xVgfOz g TsfOcl ilcppiPcp klMj MpclnP rfnl   
TmRcP dVRh gP TxpnnQ jfMfm nnP DD zQOd yPnP zlOwpnkR, vQO-Tsp, dlU, tpil-Tdp, znRU  
rfnl rpdcP dfhcl mlta tfntpn g vQObRTspbR of DD itzl, TmR vQObRTspbRnQ zRapM    
TmRcP yPa sMItkl of DD  

 

i mltl zlOwpmfnl tR oRdR? 
s) rcp Tmfn, HfU-Hp, Llslzl, sRcPHpn hRuR zQdcP oRdR DD 
v) rf, sclO, HfU-Hp hRuR zQdcP dgP oRdR DD 
u) vQO -Tsp , Llslzl , sRcPHpn hRuR zQdcP dgP oRdR DD 
q) EdP, vQO-Tsp, hPal hRuR oRdR DD 

01 

ii tpil -Tdptl vfa zQM am nntpd? 
s) tpil -Tdptl znRUafnR am nntpd DD 
v) tpil -Tdptl zlOwpnkRM am nntpd DD 
u) Tmfn, HfU -HpM am nn tpd DD 
q) dlUdcPafnR am nntpd DD 

01 

  



 

 

iii TmRcP vlcp sRcP - Hpn mltl tRmfnl oRdR? 
s) vQO-Tspmfnl oRdR DD 
v) tpil-Tdpmfnl oRdR DD 
u) zlOwpmfnl oRdR  DD 
q) znRUmfnl oRdR DD 

01 

iv kgnRtl TmRcP vQObRTspbRnQ vQkf yPd? 
s) cTifOa gP bQzf yPd DD 
v) TifOa gP jfMfm yPd DD 
u) jfMfm gP tfMITifO yPd DD 
q) klmITufa yPd DD 

01 

v zlOwp dpacl nRUM tR cfof? 
s) tpil -Tdp cfof DD 
v) Hpxll cfof DD 
u) zlypzM cfof DD 
q) eRn cfof DD 

01 

 cfmlalTzP   

2 klacl vfaQ sVl FfOFljfnP dfcl Tmpacl TmpgdcPcl hDaf klg : 5×1=5 

    TzRdfg efMt nlOUM csaM dlcl sVl yPa dVpO dpnf DD rtl sVltlOcl MPiROh dpacl TzROnl 
rfnl cfup yP yPa dlUdcPnQQ opUtfM tfg egIgf nlOaf zQQ tR hf?alcl TmpclDD rm vfatl
vlnl scl vfatl zPO, vfatl vlcpgl,vfatl hPal alclDDdVpO csaMcl MPiROhM alMan
 dlcl sVlg blzQbyPmxl  TzROnl dpnf  DD rM  vRofO rcl kn  vcl rm alMantl alcl 
yPdVpO, opUtfM tfg egIgf nlOaf tfO kROn- krg ofDDrm dVpOtl-alMan, ofUtfM kRnkrg
tfg egIgf nlOaf tfO alcl vQnl sl aln vfOdR? tnPalTzf razQQtl L dVPd klclaf dPHlbld
 TnPM Ezfb vd DD  bP kRn  krgtl rp tfO  cft  DD  mnQQ tRcl tlU dPnIblMlcP yPdVp  DD 
m opUtfM kRn krgg tfg egIgf nlOaf zQ of alcp tfOcl zQxlmRkl klOcpdp dVpOtl alMancl
 tfO mlcl DD rpcl tRcl tlUnlcl tlkM vcl DD rpMl dSsfM alMantl dVpO csaMn alcl 
-yPdVpO tMP tlkM LPvcl DDr xlgIbpdcPcl yPa rfM ofDDitzl m yPdVpOTzRnQQ mcl wlOM
kPVscl rcpM jlxld DD dVpOtl alMancl tfO mlcl DD yPadVpOTzRcl nfulM alMancl wlOM 
kVfTzR rRTzRcl nlOaf - nlOaf rcp tofd ncl  DDdVpOTzR LPvcl DD alMacl wlOcl iRaf nlOaf -
nlOaf rcp rclMPal dVpOTzR mzlM kMIblcl DD r aPnP tROcl DD 

 

i TzRdfg efMt nlOUM .............dlcl sVl yPa dVpO dpnf DD 
s) afaM 
v) xpdfop 
u) csaM 
q) czRsf 

01 



ii vfatl vfanQ opUtfM tfg egIgf nlOaf zQQ tR hf? alclMPal Tmpc? 
s) dOVpTzRtl MPiROhM dpacl TzROnl rfnl cfup yP yPa dlUdcP nQQ DD 
v) dVpO csaMtl MPiROhM dpacl TzROnlnQQ DD 
u) dOVp csaMtl TzROnl alMannQQ DD 
q) dVpO csaMtl MPiROhM dpacl TzROnl rfnl cfup yP yPa dlUdcP nQQ DD 

01 

iii alMantl MPiROhM optfM tfg egIgf nlOaf zQ tR alcl? 
s) vlnl scl DD 
v) kRn krg 
u) hPal  
q) vlcpgl  

01 

iv tlkMcl dSsfM alMantl vfanQ rcl wlOM kVPscl rcpM jlxllcl? 
s) yPdVpOTzRnQ 
v) dVpO csaMnQ 
u) cfup TzROnldcPnQ 
q) yP yPa dlUdcPnQQ 

01 

v alMancl wlOcl vQkf rcp tofd ncl ? 
s) kVfTzR rRTzRcl rcp tofd ncl DD 
v) kVTzR rRTzRcl nlOaf nlOaf rcp tofd ncl DD 
u) nP nPupMcl nlOaf nlOaf rcp tofd ncl DD 
q) cfnlOaf cfnlOaf rcp tofd ncl DD 

01 

 cfmlalTzP  

 sVl opUnM sVl ipa vPafwlO dpnf DD r vPafwlOM vPaf dopO sRnRdcP gRUMl sVl dopO sRnR  
hDnInf dpnf DD cfta TmpgdcP nclMP rtl nRkfdlUdcPnQ xfclMg ndpnf DD dpOnQ tRtl
yfcptlcldp?tRcltl gl cfyfcptlcl dp alTzP opUqlgM tnP wpOcpnl cftlof?dlUcl TrROkhP
 tldl of alcp tPMPcl dlUcl gl tldln tfg dpxl gP dP tnP cfMP? iSag TmpgdcP nclMP
r nRkfdlUdcPnQ xfclMg ndpnf DD dopOsRncl dl dpnf -sMg DDsVl tlO vPa nRblMla
cl kPUnpM sMgtl Tmpcl -nRkfdlU tfg egIgf eRhleRgl vfa hf? mlgf Tzfd oROa zpMMl 
nRkfdlUtl alcl - tfgegIgf eRhleRgl kzpktlgfy of DD td tfcl alclgf sMg bPclg 
bPclg kzpktlgfy mfM LPcl gP rtl Tmpcl-tfgegIgf eRhleRgl sl MR DDrp tfO sVRg jf?
m eRgleRgl alclMPal slnQ vfatl alnf sMgtl alcl mcl nRkfdlUtl alnfDDtfO dl mlag
 of sMg dfap DDkzpOktlgfytl alcl -tP m egIgf gl eRhleRgl cfupg dR r of ylOUkVlzpM
DDylO kVlzpMtl rp opUqlgnQ dldVRa kfMIbldDDcfsRclcP ofUclMPal ylOU kVlzpMnQTmpbDD 

 

i vPaf dopO sRnRdcP gRUMl sVl dopO sRnR vQkf dpnf? 
s) nPOUxl dpnf DD 
v) MTifOa dpnf DD 
u) hDnInf dpnf DD 
q) apMIv dpnf DD 

01 

  



ii dopO sRncl dl tR dpnf? 
s) uug dpnf DD 
v) Mfxpn dpnf  DD 
u) wlMPg dpnf DD 
q) sMg dpnf DD 

01 

iii tfgegIgf eRhleRg vfa hf alclmPal sMgtl cROzRO vfanQ Tmpcl? 
s) kzpktlgfynQ 
v)ylOU kVlzpMnQ 
u) nRkfdlUnQ 
q)TvPOnQ 

01 

iv sMgnQ m egIgf gl eRhleRgl ylOU kVlzpM of vfatl alnf? 
s) nRkfdlUtl 
v) kzpktlgfytl 
u)ylOU kVlzpMtl 
q)TvPOtl  

01 

v dopO sRnRtl vQa vfnPcl TmpgdcP ndpnf ? 
s) ta TmpgdcP  
v) cfta TmpgdcP  
u) ufM TmpgdcP  
q) zhln TmpgdcP 

01 

 SECTION ‘B’  

tdp ofUMsIUopcl 
 

16 

03 vfaQ kInlrRcp Tmpgcl hDaf klg:  4×1=4 

i vacl nRUanlgl vfaQ TsP nd rnQQQQ tR ald?        
s) oRO TspTspO 
v) sV TspTspO 
u) LlcPa TspTspO 
q) knl TspTs 

01 

ii sVtl vlcl mlhlM vlgtl alacl zQOy sRaf tfOhnQ .....................ald DD 
s) sInP tPOaQ tfO rPdl DD 
v) TmpaQ tfO rPdl DD 
u) sVRzPgaQ tfO rPdl DD 
q) mPTrfaQ tfO rPdlDD 

01 

iii 'sVl dopO' alatl vfa oROU sRd? 
s) nPU LPnIaQ tOPa oROU DD 
v) TrRa tPOa oROU  DD 
u) tUhl tPOa oROU  DD 
q) cgIbp nPU LPnIaQ tPOa oROU  DD 

01 



iv tfOh gPm altfOnQ ipHIbla sVlgIHlnQQ tR sVlgIHl ald? 
s) tPrfO sVlgIHl  
v) zQgInP sVlgIHl 
u) Llm sVlgIHl  
q) tljQ sVlgIHl  

01 

v tRh kfMIsktjfnP vfaQ TsP vfcPnvfacl sRd gPm ofUacl tlU sRd DD 
s) zfbf zRO kn 
v) hRsRdIgl zR kn 
u) rpUaQ zR kn 
q) zR kn 

01 

04 vfaQ kInlrRcp Tmpgcl hDaf klg: 4×1=4 

i "tfg zafg dp?" rp altfO vfa rPdlcl TmRbg hf? 
s) mPTrfaQ tfO rPdl DD 
v) TmpaQ tfO rPdl DD 
u) sVRzPgIaQ tfO rPdl DD 
q) iPnR cfLlaQ tfO rPdl DD 

01 

ii vfa rPdlnQ ofUMIsIUopclM dopO gl ald ? 
s) iPnR cfLla tfO rPdl 
v) mPTrfaQ tfO rPdl 
u) TmpaQ tfO rPdl 
q) vcPdInf tfO rPdl  

01 

iii TspTspOcl dPtRnQ tR ald? 
s) LPnIa ald 
v) oRUsR ald 
u) kfMIs ald 
q) Ml TspTspO 

01 

iv "fncl " alatl ...................kn sRd DD 
s) zfbf dInR kn 
v) zfbf zRO kn 
u) zfbf nl kn 
q) dInR kn 

01 

v 'ra' tfOh vfa kfMIs hf DD 
s) vcPa kfMIs 
v) mltM kfMIs 
u) zQOytMf kfMIs 
q) iRaQ kfMIs 

01 

  



05 vfaQ kInl rRcp Tmpgcl hDaf klg: 4×1=4 

i "dxPz tPnzPMP ufgItRsM dp" rp altfOtl tR sRald? 
s) vcPa kfMIs 
v) kn 
u) kfMIs 
q) kn gP tlU  

01 

ii rpUcpa kfMIstl tR sRald ? 
s) kfMIscl znldfOMt sRald DD 
v) kfMIskttl vfaQ alacl zQOy tMf tacl sRald DD 
u) TLRnd, jlzpd, alkcl tfO , Tmpg gP cRml hRuR sRald DD 
q) vfaQ EsRefa, zmIsf, vcPaQ alaf tfO sRald DD 

01 

iii 'sVl nlHM mP' rpM 'sVl nlHM' tfOhtl ........... 
s) dlcl tPtfcp cfmlalTzP vpzQxl sRacl dpp, itzl rp tfOh nPU LPnIaQ tPOa oROU tcl DD 
v) dl gPm rPdlcl kfgzl sRacl dp, itzl rp tfOh kfgzl tPOa oROU tcl DD 
u) rPdlnQ oROU agIblMPal rzlt nacl dp, itzl rp tUhl tPOa oROU tcl DD 
q) cgIbp cfmlalTzP mlta TiROnP cfLlacl tPtfcp sRacldp, itzl rp tfOh cgIbp nPU 
      LPnIaQ tPOa oROU tcl DD 

01 

iv tPrfO sVlgHltl tR sRald? 
s) kfMIscl cgIbp tPtfcp gPm tPTrRa sRald DD 
v) ml gPm mlegIgf nP tfOh cfmlalTzP altfOnQ rpMIbla sVlgIHl sRald DD 
u) dl gPm rPdlnQ cfup ktcl mPTrfOa sRald DD 
q) tfOh gPm altfOnQ ipHItla sVlgIHl sRald DD 

01 

v clgIbp TrRa tPOa oROUtl tR sRald? 
s) dl cfmlalTzP rPdlcl tPTrROa sRald DD 
v) clgIbp cfmlalTzP mlta TiROnP Llacl tPtfcp sRald DD 
u) dlcl tPtfcp cfmlalTzP vpzQxl sRald DD 
q) dl cfmlalTzP rPdlcl clgIbp tPTrROa sRald DD 

01 

06 klacl TmpgdcPcl mlta hDaf klg: 4×1=4 

i 'TsR' tfOh tnl kMIaQ  tR dopO tcl? 
s) 'TsR' tfOhtl zROzRO dlU gPm zQxl sRald DDitzl, rp tfOh kMIaQ tR dopO tcl DD 
s) 'TsR' tfOhtl kROa dlUnQ sRald DDitzl, rp tfOh kMIaQ tR dopO tcl DD 
u) 'TsR' tfOhtl yla dlUnQ sRald DDitzl, rp tfOh kMIaQ tR dopO tcl DD 
q) 'TsR' tfOh vcPdInf tfO rPdlcl sVl TmRbg of DDitzl, rp tfOh kMIaQ tR dopO tcl DD 

01 

ii "ofUnf" alatl tnl rpUaQ zR kn sRd? 
s) "ofUnf" alatl vfaQ TsP tROtcl tMf tacl kfMIscl kn sRd, itzl rp tfOh rpUaQ
      zR kn tcl DD 
v) " ofUnf" alatl vfaQ TsP nlcljfnP taf gPm vacl blgdcPM taf alaf sRd,  
      itzl rp tfOh rpUaQ zR kn tcl DD 

01 



u) " ofUnf " alatl vfaQ TsP tclMPal tMf cftacl kfMIscl kn sRd, itzl rp tfOh
      rpUaQ zR kn tcl DD 
q) "ofUnf" alatl vfaQ TsP vfcPnvfacl sRd , itzl rp tfOh rpUaQ zR kn tcl DD 

iii "rp MlO" rp altfOM rp tfOh vQnl tUhl tPOa oROU tcl? 
s) "rp" tfOhtl dl cfmlalTzP rPdlcl tPTrROa sRalc dp, itzl "rp " tfOh tUhl tPOa oROU  
      tcl DD 
v) " rp " tfOhtl dl gPm rPdlcl kfgzl sRacl dp, itzl "rp "tfOh tUhl tPOa oROU tclDD 
u) " rp " tfOh dlcl zHIHfM cvclMPal dlafnR vacl tatl " rp " tfOh tUhl tPOa  
      oROU tcl DD 
q) "rp" tfOhtl MlOcl gfgzl sRaf TsP nacl dp , itzl "rp " tfOh tUhl tPOa oROU tcl DD 

01 

iv oROU mRhR nPupMcl td? 
s) ml nPupMcl td DD 
v) zRO nPupMcl td DD 
u) kInl nPupMcl td DD 
q) mf nPupMcl td DD 

01 

 SECTION ‘C’ 

tdp sIUopcl mlgf vP rfnl tdp xVlmfm 
14 

07 klacl FfOFlnQ TifOgInl vPb rfnl dfcln TmpgdcPcl hDaf klg: 5×1=5 

 tlsP dVpTzRhl dVpnQ alcl -dVpyPsRgIThR, mhl tfO qVl ald DDslU mhl alaf mldp?tR r ifaQ tfO 
alb DDtaQ tfO dVpTzfO m mldp ;cftaQ tfO dpTzfO cfml ,alcl dVphl DDtn vfaQ tfOofDDalb tRgl
 tR hf alb ; tR r slUcl tfO ?r zlofaQ sVRU sVRyPcl sITnRMl (nRUMl)mcl cfnlMgzlOxnQ 
yPTzfO vQ td? xVRzcl dlUnQ g yPnP DDcftaQ tfO mhl slUnQ aldjbPdVpTzRhl alcl DDdVptl 
alacl - xVROzcl dlU alzl cftDD hRD dRzRtl (bRa)yPa TxpnfclTsP nnItpdDDr sVRUsVyPcl
rU vlcl cfkfbRnPg jfMaf xVazPaf dp alal mcl zcPOMl zQ dpDDcfml npalTzfO mcl cfnlhl
 cP tfg TsP nnvfOd DD rncl g r sTnRM (nRUM) yPdlgR dVp DD r HRU vfUaQsfUag 
ncl dVpTzRhl DD 

 

i "taQ tfO dpTzfO m mldp" rp tfO vfatl ala hf? 
s) dVpTzRhl 
v) dVphl 
u) TzRahl 
q) anbPahl  

01 

ii xVROzQ dlU alzl cft alclMPal vfatl vfanQ alcl? 
s) dVpTzRhl dVpnQ alcl DD 
v) dVphl anbPanQ alcl DD 
u) dVptl MgzlOxnQ alcl DD 
q) dVphl dVpTzRnQ alcl DD 

01 

  



iii sVRUsVyPcl rU vQkf dpnf? 
s) jfMaf xVazPa dpnf DD 
v) cfjfMaf cfzPa dpnf DD 
u) nPOUxl dpnf DD 
q) kInPsp dpnf DD 

01 

iv dVpTzRhl vfanQ zljfaQ sVRUsVyPcl nRUM yPn tpd alcl? 
s) anbPanQ 
v) dVpnQ 
u) MgzlOxnQ 
q) rgIbVbPanQ 

01 

v "cftaQ tfO mhl slUnQ ald bP? 
s) dVRTzRhl  MgIzlOxnQ  alcl DD 
v) dVphl dVpTzRnQ alcl DD 
u) dVpTzRhl dVpnQ alcl DD 
q) anbPahl dVpnQ alcl DD 

01 

08 dfcln FfOFlnQ TifOgInl vPb rfnl klacl TmpgdcPcl hDaf klg: 4×1=4 

 vgpM sVxlrl rMl xVlO  DD xVfOxVlO alaQ  zQ sVlUrlM td DD sVlUrl cfxVPTzfO xVlO TsfngIcfvfO DD    
TmRnQ xVlOM TzfclalTzfO TmR gaia td wQ EdP nnItpdDDtlOclrSMR dfEdP ndf nPU gPUM 
dpntpd DDgpUM cfxVPTzfO dfEdP nn cfvfO  DD i tclTzPMP dlU zlTxfnQO vfOdDD xVlOgl gla  
zQ EdP of DDEdPcl zQ nP dp DDsInfOgpdcPhl dfEdP nnQ cfvfODDwaP snfOgpdcPg vfOzRnP 
Hln cfx DD bQ rdcPnQ g xVlOxlOM Tzfd DD 

 

i xVfOxVlOhl tnP sInfOgpdcPnQg nP Tzfd? 
s) sInfOgpdcP nP sVlUrl Hld, itzl rdcPnQg xVfOxOVlhl nP Tzfd DD 
v) sInfOgpdcPhl Tsp cfnfgInP ypOd, itzl rdcPnQg xVfOxOVlhl nP Tzfd DD 
u) EdPcl zQ nP td, sInfOgpdcPcl gpUM nP cft, rdcPhl dfEdP nn cfvfO DD itzl    
      rdcPnQg xVfOxOVlM nP Tzfd DD 
q) sInfOgpdcP nQhp gfOzM Hld, itzl rdcPnQg xVfOxlVOM nP Tzfd DD 

01 

ii tlclrSMR dfEdP ndf tR dpntpd?   
s) gaiacl tfObPaM nPOU dpntpd DD 
v) nP gpUM dpntpd DD 
u) Trpsptl gpUM dpntpd DD 
q) rlcp tlTif dpntpd DD 

01 

iii xVlOxlO alaQ zQ vgl td? 
s) xVfOxOlV alaQ zQ TifOa nRUM td DD 
v) xVfOxlVO alaQ zQ tfMITifO nRUM td DD 
u) xVfOxlVO alaQ zQ tfMITifO TvPO tacl nRUM td DD 
q) xVfOxOlV alaQ zQ sVlUrlM td DD 

01 

 



 

 

 

 

iv TmRnQ xVlOM TzfclalTzfO TmR tR td wQ tR nntpd? 
s) gaia td wQ EdP nntpd DD 
v) gaia td wQ nP rcp rntpd DD 
u) gaia td wQ nP Tsp ypntpd DD 
q) gaia td wQ rlcpeRsP nntpd DD 

01 

09 klacl xVlmfmnQ TifOgInl vPb rfnl dfcln TmpgdcPcl hDaf klg: 5×1=5 

 rp zQO vQkf zQO 
qMl vgl LPgld 
qMl vgl LPgld 
qMl rp rld qMl r rld 
rp zQO vQkf zQ 
vRoRO rp rp rld 
r r rld  
tldl bRnP nRzMl cfHl 
rp zQ vQkf zQ 
vRoRO TifOa dxPa 
vRoRO cTifOa dxPa 
gPd bRnP cpFIbl kVd DD 
rp zQO vQkf zQO 
vROoR dRMRgf ctltlMld 
vROoR yPa td 
vROoR TrRa td  
rp zQO vRkf zQ 
vROoR TrRa tfOM tRMld DD 

 

i tR sRncP cfvfOa? 
s) rp tfO sRncP  cfvfOa DD 
v) rp zQ sRncP cfvfOa DD 
u) rp Trpxp sRncP cvfOa DD 
q) rp tlU sRncP cfvfOa DD 

01 

ii tR ctl tlMld? 
s) r ctl tlMld DD 
v) m ctl tlMld DD 
u) rp zQO ctl tlMld DD 
q) cfqP ctl tlMld DD 

01 

  



 

 

iii zQO tR bRnP nRzMl cfHl? 
s) gul bRnP 
v) tldl bRnP 
u) dP bRnP 
q) M bRnP 

01 

iv zQ gPd bRnP tR nd? 
s) cpFIbl kVd DD 
v) bPd  
u) kVd 
q) spd 

01 

v xVlmITzRcl zQ vROoR vQa tfOMl tRMld? 
s) cTifOa tfOMl tRMldDD 
v) TifOa tfOMl tRMld DD 
u) cfnlOaf tfOMl tRMld DD 
q) TrRa tfOMl tRMld DD 

01 

 SECTION ‘D’ 

tfOtlnna Tmpg gP  ulMIdl 
 

 tdp sIUopcl mlgf vP   

10 dfcl klacl TmpgdcPjfnP vfaQ kInl Tmpgcl hDaf kVPb :-  4×2=8 

i rlg TxpnnQ tdp sIUopclMl tR ald gP tfUgIzP yPa mfUnQ kVlxlsIUopclM tR ald? 02 

ii oRsfMdcPhl EzodIopM tR tR rd? 02 

iii  tR tR nTzf TmRnQ xVlhl cfTzf?   02 

iv nPU nPU yPa TspxpkVRUnQ vfa vfa TxpnM LfMd ald? 02 

v dVphl alaf TsP MgzlOxhl vQnl ncl? 02 

11 klacl TmpgdcPcl hDaf kVPb: - 2×3=6 

i Tspxp vQa vPtR hf?tlUtlUMl rdcPnQ tR klntpd rfnl Tspxp MQOaf nfulM sITnR vQadpntp
d? 

03 

ii nlzRM dVpTzRhl tnP rgIbVbPjnQg sVRUsVyP nbR alzl dVpnQ alcl?  03 

12 TLRmtP ulMIdl 150 tfOhM nb:  
TrRa kMfdRMR 
       cfmlalTzP 
              ufgItRs DD 

1×6=6 

13 "yp gP m" tfObPaM 110-115 tfOhM Mlbp xVPtfO kVPb DD 
                          cfmlalTzP 
"mcl cfd rfnl m" tfObPaM 110-115 tfOhM sVlg Mlbp xVPtfO kVPb DD 

1×5=5 



 

14 rp va glxltfMl iPzl tb alclgf, cfzldfnf klclgf xVROzQ ypnQ tfOklV kVPb DD 
                              cfmlalTzP 
gaftl ngf HRcpHMtl Trpmf tlOcl zRcp EdPwlO Hlntpd alacl tatl xVROzQ nRkfdlUnQ tlOtRcl 
MlTsP nclgf sVl TLRaf tfOkVl kVPb DD 

1×5=5 

15 ncpecp  50-55 tfOhM sVl FfOFl kVPb: 
 

vPafwlODD 
              cfmlalTzP 
vQgTsp DD 

1×5=5 

16 tdp sIUopclM cgpjfb nb DD  
One day, a farmer was looking for a water source for his farm, when he bought a well 

from his neighbour. The neighbour , however was cunning. The next day, as the farmer 

came to draw water from his well, the neighbour refused to let him take any water. When 

the farmer asked why, the neighbour replied, “I sold you the well, not the water,” and 

walked away. Distraught, the famer went to the emperor to ask for justice.  

1×5=5 

 

 

 

 

 

 

 

 

 

 

 

 

 


